Activity 2:  Non-Average Rate 




Non-Average Rate Example:

School A would like to find out what their cohort default rate is.  Can you help them?

School A, a degree-granting school, had 90 borrowers enter repayment in the cohort fiscal year. Of those, 8 borrowers defaulted in the cohort default period.  What is school A’s cohort default rate?

Answer Key on next page
ANSWER KEY
Non-Average Rate Example:
School A, a degree-granting school, had 90 borrowers enter repayment in the cohort fiscal year (denominator).  Of those, 8 borrowers defaulted in the cohort default period (numerator).  

School A’s cohort default rate is calculated by dividing 8 by 90 (8 ÷ 90 = 0.088) and expressing the result (0.088) as a percentage.  This produces a non-average cohort default rate of 8.8 percent (0.088 x 100 = 8.8).
